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Outline

1 ((if 0 + -) 1 (+ 1 1))

2 (define (x) (if x 0 1))

3 (+ (if (< 0 1) 0 1) 2)

4 (+ (define x 0) 1)

5 ((+) 1 2)



((if 0 + -) 1 (+ 1 1))

Eval[((if 0 + -) 1 (+ 1 1)),PG] = . . .

Eval[(if 0 + -),PG] = . . .

Eval[if,PG] = ’special form if’
ApplyPG

[’special form if’, 0, +, -] = . . .

Eval[0,PG] = 0
0 6= ’#f’
Eval[+,PG] = ’pr. proc. of sum.’

Eval[1,PG] = 1
Eval[(+ 1 1),PG] = . . .

Eval[+,PG] = ’pr. proc. of sum.’
Eval[1,PG] = 1
Eval[1,PG] = 1

Apply[’pr. proc. of sum.’, 1, 1] = 2
Apply[’pr. proc. of sum.’, 1, 2] = 3
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(+ (define x 0) 1)
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x 7→PG 0

= ’undefined’
Eval[1,PG] = 1

Apply[’pr. proc. of sum.’, ’undefined’, 1] =

Error: The procedure was applied with other arguments than numbers.
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